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What is the least common denominator of [image: image1.png]


, [image: image2.png]7



, and [image: image3.png]RS



?

1) [image: image4.png]Ox



   2) [image: image5.png]2x



   3) [image: image6.png]14x



   4) [image: image7.png]14%°
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What is the sum of [image: image8.png]RS



 and [image: image9.png]o=



?

1) 1   2) [image: image10.png]


   3) [image: image11.png]


   4) [image: image12.png]442
2%
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The sum of [image: image13.png]Rl



, is

1) [image: image14.png]=



   2) [image: image15.png]x+15
5%




   3) [image: image16.png]


   4) [image: image17.png]x+15
x+5
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The reciprocal of the expression [image: image18.png]e



 is

1) [image: image19.png]2+3x




   2) [image: image20.png]


   3) [image: image21.png]2x+3



   4) [image: image22.png]2+ 3x
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The expression [image: image23.png]P~



 is equivalent to

1) [image: image24.png]iy-x
=




   2) [image: image25.png]-y
I




   3) [image: image26.png]


   4) [image: image27.png]
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Which expression is equivalent to [image: image28.png]iR

8)e



?

1) [image: image29.png]a+h
=




   2) [image: image30.png]a+h




   3) [image: image31.png]


   4) [image: image32.png]
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What is the sum of [image: image33.png]T



 and [image: image34.png]T



?

1) [image: image35.png]-



   2) [image: image36.png]10
2l



   3) [image: image37.png]42
I



   4) [image: image38.png]38
2l
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Expressed as a single fraction, [image: image39.png]


 is equal to

1) [image: image40.png]


   2) [image: image41.png]o



   3) [image: image42.png]0%



   4) [image: image43.png]0%
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Expressed in simplest form, [image: image44.png]Sx+3 _x-1
x




 is

1) [image: image45.png]dx+4
3%




   2) [image: image46.png]2x+2




   3) [image: image47.png]9x+7
=




   4) [image: image48.png]
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Which expression is equivalent to [image: image49.png]


?

1) [image: image50.png]—9x
x+3



   2) [image: image51.png]x+3



   3) [image: image52.png]x+3



   4) [image: image53.png]
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What is the sum of [image: image54.png]v-9+517
y+Z



?

1) [image: image55.png]


   2) [image: image56.png]


   3) [image: image57.png]


   4) [image: image58.png]
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Expressed as a single fraction, what is [image: image59.png]


?

1) [image: image60.png]2x+3
Pz




   2) [image: image61.png]x+1

X+x



   3) [image: image62.png]I+l



   4) [image: image63.png]
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The expression [image: image64.png]


 is equivalent to

1) 1   2) [image: image65.png]


   3) [image: image66.png]


   4) [image: image67.png]
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Expressed as a single fraction, [image: image68.png]


 is equivalent to

1) [image: image69.png]-1



   2) [image: image70.png]x-2
1)



   3) [image: image71.png]x+2

- 1)



   4) [image: image72.png]3x-2
- 1)
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Expressed as a single fraction, [image: image73.png]


 is equivalent to

1) [image: image74.png]fx=3
x -3




   2) [image: image75.png]4x+3
x -3




   3) [image: image76.png]


   4) [image: image77.png]
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The expression [image: image78.png]


 is equivalent to

1) [image: image79.png]


   2) [image: image80.png]


   3) [image: image81.png]


   4) [image: image82.png]
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What is the sum of [image: image83.png]


 and [image: image84.png]


?

1) 1   2) [image: image85.png]


   3) [image: image86.png]


   4) 0
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For all values of b for which the expressions are defined, [image: image87.png]


 is equivalent to

1) [image: image88.png]


   2) [image: image89.png]


   3) [image: image90.png]


   4) [image: image91.png]
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The expression [image: image92.png]snx  smx-1



 is equivalent to

1) [image: image93.png].
saema— 1)



   2) [image: image94.png]snx—



   3) [image: image95.png]—3sinx—2
sz 1)



   4) [image: image96.png]“3sinx—2
sinx—1





20
If the probability that an event will occur is [image: image97.png]==



, then the probability that the event will not occur is

1) [image: image98.png]


   2) [image: image99.png]


   3) [image: image100.png]


   4) [image: image101.png]
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If the probability that an event will occur is [image: image102.png]


, then the probability that the event will not occur is

1) [image: image103.png]


   2) [image: image104.png]x+1



   3) [image: image105.png]x+1



   4) [image: image106.png]
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If the probability that an event will not occur is [image: image107.png]


, then the probability that the event will occur is represented by



1) [image: image108.png]


   2) 0   3) [image: image109.png]


   4) [image: image110.png]





1
ANS:
3

The LCM of 2 and 7 is 14.  The LCM of x and x is x.  The LCD is 14x.
REF:
060412a

2
ANS:
4

[image: image111.png]@x2+(xxxn) _4+2

O] 25




REF:
010423a

3
ANS:
2

[image: image112.png]Bx5)+(xx2) _15+2x _2x+15
5 5% 5%





REF:
080207a

4
ANS:
2
REF:
060327siii

5
ANS:
1

[image: image113.png]@xy)-(xx) _2y-x
O] 25





REF:
010016a

6
ANS:
1

[image: image114.png](@x2x)+(xxb) _2ax+bx _x(2a+h) _2a+h
(x)(27) 2x0 2x% 2x





REF:
089911a

7
ANS:
4

[image: image115.png]3,7 _9m+dn_ S8n _ 58
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REF:
060727a

8
ANS:
4

[image: image116.png]



REF:
010921a

9
ANS:
3
REF:
010118siii

10
ANS:
4
REF:
010218siii

11
ANS:
4
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REF:
080505b

12
ANS:
2

[image: image118.png]A+ (E+DXY _x+x+1_ 2x+1
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REF:
069906a

13
ANS:
4
REF:
068421b

14
ANS:
3
REF:
018734siii

15
ANS:
2
REF:
089919siii

16
ANS:
1

[image: image119.png]6 _ y+5 _ 6 y+5 6 1 _ 5

Y5 y-25 y-5 (p+5(y-5 y-5 y-5 y-5





REF:
080805b

17
ANS:
2

[image: image120.png]



REF:
010315b

18
ANS:
4
REF:
088931siii
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ANS:
3

[image: image121.png]2 5 _26nx-1)-Ssinx_2sinx—2-Ssinx_ _-3snx-2
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REF:
060816b

20
ANS:
4
REF:
088619siii

21
ANS:
3
REF:
068522siii

22
ANS:
4
REF:
088523siii

